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The author of the book “The process of Education” is

1. Ivan Pavlov
2. Francis Galton
3. Jerome Bruner

4. E.L. Thorndike
“The process of Education” (K0&58
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This stage is called as quarrelsome age
1. Early childhood

2. Late childhood

3. Infancy

4. Adulthood
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Temporary support provided by the teacher to the student to
do a task, until the child can do it alone is called

1. Scaffolding
2. M.K.O

3. Z.P.D

4. Schemata
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These are considered as Educable Mentally Retarded
1. Moderate Mental Retarded

2. Mild Mental Retarded

3. Profound Mental Retarded

4. Severe Mental Retarded
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Evaluation that is done based on Academic Standards is

1. Formative Evaluation

2. Summative Evaluation

3. Specific Evaluation

4. Teacher centric Evaluation
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Sarika is doing homework to get reward from the teacher.
Here the motivation is

1. Intrinsic

2. Social

3. Extrinsic

4. Achievement
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Home Resources among the following
1. Locality, Social Status

2. Parents, Computer

3. Newspapers, Books

4. Education, Personality
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“The mental development of Chaitanya is poor, so he was poor
in moral and social development. This is related to the
following principle of development

Principle of interaction

Principle of interrelation

1

2

3. Principle of integration

4 Principle of Predictability
)
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10.

The paradigm which helps students to develop critical thinking
and problem solving skills

1. Teacher centric paradigm
2. Learner centric paradigm
3. Subject centric paradigm
4. Classroom centric paradigm
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External factor that influence growth & Development
1 Intelligence

2 Emotional factors

3. Social Status of the family

4 Social nature of the child
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12.

According to RTE Act primary school should be established
within this distance from the child’s house.

1. 1 km
2. 25 km
3. 1% km
4. 2 km
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Teacher wants to find out the profession in which his students
are going to excel in future. He has to administer

1. Creativity test

2. Aptitude test

3. Attitude test

4. Intelligence test
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14.

Objective of “POCSO Act” 2012

1.

2.
3.
4

To eradicate child labour
To protect children from sexual abuse and Exploitation
To provide Educational opportunities to street children

To provide free and compulsory education to the
children of age 6-14.
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The ability to use learned material in new situations comes
under this domain

1.
2.
3.
4.

Social domain
Affective domain
Psychomotor domain

Cognitive domain
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16.

One of the following factor causes forgetting

1.
2.
3.
4.

Attention
Association
Interference

Retention
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According to ‘Piaget’, primary motivating force behind
cognitive development is

1.
2.
3.
4.

Assimilation
Accommodation
Concept formation

Equilibration
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As per this perceptual law people perceive objects as a group
based on identical characteristics

1. Law of symmetry

2 Law of continuity

3. Law of similarity

4. Law of closure
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A film, video, song, program etc... are stored in the form of
1. File

2. Folder
3. Text
4, Data
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This counselling is called as ‘Client — Centered Counselling’

1.

2.
3.
4

Eclectic counselling
Directive - counselling
Non- Directive counselling

Clinical counselling
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Observer and the person observed are one and the same in this
method

1.

2.
3.
4.
=5

t-\

~wN

Rating Scale
Questionnaire
Introspection Method
Case Study Method
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Transfer of learning that takes place a person who learned
Hindi is learning Sanskrit

1.
2.
3.
4.

Zero Transfer
Bilateral Transfer
Negative Transfer

Positive Transfer
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Lecturer is giving ‘Demonstration lesson’ to teacher trainers.
Learning taking place here is ...

1.
2.
3.
4.

Insightful learning
Observational learning
Classical conditioning

Operant conditioning
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Intelligence which is not related to Gardener multiple
intelligences.

1. Spatial Intelligence

N

Logical Intelligence

3. Language Intelligence

4. Mechanical Intelligence
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One of the following is not the stage of Kohlberg’s Moral
development.

1. Obedience and Punishment orientation

2. Authority and Social order obedience

3. Individual Ethics & Conscience

4. Societal rights - Democratically unapproved law
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26.

New academic structure as per NEP - 2020

1.
2.
3.
4.

5+ 3+ 3 +4 Model
5+2+5+ 3 Model
5+ 5+2+3 Model
5+2+3+2 Model

NEP - 2020 (35780 S5°88 Z)CS°§ AT DRI°I°

1.

2
3.
4

5+3+3+4 33000
54+2+5+3 33000
54+5+2 4333000
54+2+3+2355050°

Correct sequence of Memory process

b=

Encoding — Retention — Retrieval
Retention — Retrieval - Encoding
Encoding — Retrieval — Retention

Retention — Encoding — Retrieval
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28.

Type of learning that takes place through collaborative and
cooperative learning

1.
2.
3.
4.

Subject centered
Method centered
Teacher centered
Child centered
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The organized use of web resources and allied devices for
curricular needs is called

1.
2.
3.
4.

Tele conference
Tele collaboration
Tele marketing

E-Commerce
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The realization that we have about our abilities and qualities is
called

1. Self-control

2. Self-realization

3. Self-concept

4. Self esteem
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Sub component of Psychic structure which works on Idealistic
Principle

l. Ego
2. Id
3. Libido

4. Super Ego
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1. A greater amount of people are visiting the stadium.
2 A greater number of people is visiting the stadium.
3. A greater amount of people is visiting the stadium.
4 A greater number of people are visiting the stadium.

Identify the correct verb form of the sentence:

Celery or spring onion fine.
1. works

2 working

3. worked

4 work

Identify the term for someone who walks on ropes:
1. Acrobat
2 Juggler
3. Funambulist
4

Clown

Identify the modal verb that shows future possibility:

“I travel to Europe next year.”
1. must

2. might

3. should

4. will
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68.

Identify the correct use of an apostrophe to show possession
for a singular noun:

1. The dog’s collar.
2 The dogs’ collar.
3. The dogses’ collar
4 The dogs’s collar.

While writing a biographical sketch, you would most likely
find the information about a person’s significant achievements
in:

1 personal life

2 early life

3. career and achievements
4

conclusion

Identify the sentence in the present perfect tense:
1. They are eating lunch.

2 She has completed her homework.

3. He will have arrived by now.
4

I was reading a book.

Identify the negative form of the simple present tense:
1. Subject + will not + verb

2 Subject + was not + verb + ing

3. Subject + does not / do not + verb

4 Subject + had not + past participle



69.

70.

71.

72.

The following is an example of a declarative sentence:

1.

2
3.
4

What a surprise!

Do you know the answer?
I have a meeting at 3PM.
Please turn off the lights.

The tired cat slept on the mat.

Choose the correct transformation for the simple sentence
above into a complex sentence:

1.

2.
3.
4

The cat slept on the mat because it was tired.

The cat slept on the mat, so it was comfortable.

The cat slept on the mat, and it was warm.

The cat slept on the mat but it was not tired.

Choose the type of clause that provides more information
about a noun or pronoun in the main clause:

1.

2.
3.
4

Adverb clause
Verbless clause
Adjective clause

Comparative clause

He is a talented musician;
awards.

Choose the linker that fits the blank.
1.

2
3.
4

in summary
despite
however

hence

, he has won several
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Choose the correct sequence of the words in which they occur
in a dictionary.

1.

ii.

iii.

b=

storm
stoop
stock
stove
11, 1v, i1, 1
11, i1, 1, 1v
1, i1, 11, 1V
1v, i1, 1, 111

Choose the correct spelling of the word:

1.

2.
3.
4

risemblance
resimblence
resimblince

resemblance

Choose the sentence where the definite article is used before a
noun which, by reason of locality, can represent only one
particular thing:

1.

2.
3.
4

The lion is fierce.
The man on the donkey.
Mary is in the garden.

The goat was all skin and bones.
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78.

79.

They solved the problem a new algorithm.
Choose the correct preposition that fits the blank.

1. in back of

2. by means of

3. for lack of
4

in place of

They fought to protect our country and sacrificed their lives so
that we could lead our lives in peace.

Choose the synonym that means ‘sacrificed’.

1. grained

2 saved

3. surrendered
4 conceded

At the age of two-and-a half Einstein still wasn’t talking.
When he finally did learn to speak, he uttered everything
twice.

Choose the antonym of the word ‘talking’.

1. Communicating
2 Conversing

3. Chattering

4 Silent

Identify the correct transformation of indirect speech for:
Rama said to Arjun, “Go away”.

1. Rama said Arjun go away.

2 Rama told Arjun in go away.

3. Rama told to Arjun to go away.
4

Rama ordered Arjun to go away.
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82.

83.

Choose the meaning of the phrasal verb “settle down”.

1.

2.
3.
4

to become restless.
to become calm or stable.
to initiate a conflict.

to avoid making decisions

Choose the sentence in which the use of ‘whom’ is correct:

1.

2.
3.
4

Whom did you say was coming to the party?
To whom should I address the letter?
Whom wants to join the team?

Whom are those people over there?

Identify the sentence that uses an interjection correctly.

1.

2.
3.
4

Wow! I didn’t see that coming.
Oh! You forgot to lock the door.
Oops! You are right.

Alas! I have finished my work.

Read the following passage carefully.

India is a spiritual haven with a rich tapestry of philosophies
and practices. The ancient Vedas and Upanishads form the
core of Hindu spirituality, while Buddhism and Jainism offer
paths of enlightenment and non-violence. The teachings of
Guru Nanak in Sikhism emphasize equality and devotion.
India’s spiritual landscape is as diverse as its people, guiding

millions in their quest for inner peace.

The Vedas and Upanishads are central to

Choose the option that fits the blank.

l.

2.
3.
4

Sikh
Hindu
Jain
Buddhist

spirituality.



&4.

85.

86.

Read the following passage carefully.

India is a spiritual haven with a rich tapestry of philosophies
and practices. The ancient Vedas and Upanishads form the
core of Hindu spirituality, while Buddhism and Jainism offer
paths of enlightenment and non-violence. The teachings of
Guru Nanak in Sikhism emphasize equality and devotion.
India’s spiritual landscape is as diverse as its people, guiding
millions in their quest for inner peace.

Identify the philosophy associated with Guru Nanak:
l. Buddhism

2. Jainism
3. Sikhism
4

Hinduism

Identify the main obstacle teachers face in teaching speaking.
1. Open classroom system

2 Lack of energy

3. Class size
4

Electronic microphones

Choose the best option that fits the blank.

involves quick reading for important information.
Scanning
Intensive reading

Skimming

b=

Proof reading
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Choose the best option that fits the blank.

The Grammar Translation method primarily emphasises

b=

and writing over speaking and listening.
reading
vocabulary
grammar

spelling

Identify a micro teaching skill developed by B.K. Passi:

1.

2.
3.
4

Content delivery
Fluent Questioning techniques
Time management

Classroom decoration

Identify the role of English as a library language.

1.

2.
3.
4

English is rarely used for scientific literature.
English is crucial for accessing research and knowledge
English is not necessary for library resources

English literature lacks content and expression

Choose the best option that fits the blank.

Developing silent reading habits is important for the ability to

b=

English.
speak
write
translate

understanding
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2024kg
2024mg

20248
2024 .1

1. 10°
2. 10°
3. 10
4. 10°

{@x+3) (4x+2)}-(Bx+5)=
1. 8x* +13x+1

2. 8x” +16x+11

3. 8x” +13x+11

4. 8x +16x+1

In a class 60% students are girls. Number of girls in the class
is 24. Then total number of students in the class is

2.8 S5KAS° 60% Aergeo erd¥en. e SEXASE erdBe
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l. 64
2. 16
3. 40
4. 32



94.

95.

96.

The mean of data 2, 3, x, —1, 4, 6 is 4.4 then the value of x is
BSP0ES0 2, 3, x, -1, 4, 6 BoE), e 4.4 €ONS X I

l. 6.2
2. 6.4
3. 12
4. 12.4

Birthday of Prasad is 29.02.2004. His next birth day
celebrations will be on ....

B>E VES &2 29.02.2004 S5 SN0 S 8y oo
BHHEH 38

l. 29.02.2005
2. 29.02.2006
3. 29.02.2007
4. 29.02.2008

(49)2 - (125)% _

8
1
8
2. L
4
30 L
2
4. 1



97.

98.

There are ‘x” mangoes and ‘y’ boxes in a godown. Number of
mangoes that can be put in one box is

28 KERS” X7 5ré H0& SO0 Y 2w S0
288, DPS’ SoSKIR S Hog voPs

1. x+y
2. XXy
3. 2

x
4. =

A bag contains ten identical balls out of which three are red,
two are yellow, four are green and one is black. When a ball is
drawn randomly then the probability of getting a green ball is

Do MY, BOED F, Tl eHDF) $HBA 2.8 e
2208 EOD J0B0 HA DI HOITE0 Eo 20den 2.8 $oDS
50Y. ARSI 2.5 2008 FY ©d eHIW) 208 SIS
Ko éoe,régé

1
5
. 4
11
3. 2
10

N
W N



99.

100.

101.

102.

Number of independent measurements required to construct a
square is

28 SR ABYJOEHK SIS S0 Fode Hos

1. 4
2. 3
3. 2
4. 1

Number of perfect square numbers between 1 and 100
1 508030 100 ;SJCSZSKQJ DOYrY I D0Pge Doy

1 10

2. 9

3.

4

If angles of a triangle are in the ratio 2 : 3 : 4 then the smaller

angle is

28 | @bz Seren 2:3: 488" sol BS° ©d 2Y) S'eo

l. 20°
2. 30°
3. 25°
4. 40°

Ratio of circumference to diameter of a circle whose radius is
lem (r=3.14)

FEPEO TR0.0. 77w Ko F)B0 Boo). 0P B0 1§00
BT, EOZ:S@D (r=3.14)

1. 3.14: 1
2. 6.28:1
3. 1:1

4. 2:1



103.

104.

105.

If 0.5(2x=3)=0.02(5x +15) then value of ‘x’ is
0.52x—-3)=0.02(5x+15)®anS X’ Jens

1 1

2. 3

3. 2

4 4

If @, b numbers are co-primes then their LCM is

a, b &3 BoPpgen JBVYS (SFT0STe0 WS T K0
1

2. a+b
3. axb
4. 2

b

Number of lines of symmetry for a circle is

1. 0
2. 1
3. 2
4. Infinite

ST Ko Y5 Tpo B0y
1. 0

2 1

3. 2

4 @500



106. Product of integers between —5 and 3 is

—5 08B 3o ;53655 Ko Zgyg ‘éoa:ag@ OO0

1. 48
2. —48
3. -15
4. 0

107. In a square ABCD, AB = x cm, and BC = 6cm, then x = (in
cm)

2.8 3P0 ABCD &° AB =x20.20 S558a5
BC = 620.25 90005 x = (0.2 o&°)

1
2.
3. 24
4 30

108. The multiplicative inverse of 3l is

3% Boo), KeasE IS 3w

. L
25
3. 3l
8
4. -3



109. A car takes 5 hours to reach a destination by travelling at the
speed of 60km/h. After the journey of 3 hours if the speed of
the car is increased to 80 km/h then the total time taken to
reach the destination is

110.

1.

2.

3,
4,

4 hours
ﬁ hours
7

4 hours 25 min

4 hours 30 min

2.5 5280 Ko 60 3.00. IK0S” (Fasred Ry KSmgR) BEES
5K0ee) 300500 HEB08. 3HoLen (FA5TE0 TS SoXS
SRR 80 8.2/Ko.  2oNB K3mgR) TS ohH 98

0G0 DRFADO
1. 4 Koéren
2. ﬁxoeaen
7
3. 4 X0ere0 25 Joxew

4 Xoeren 30 dArew

The number 23X642, which is divisible by 3 but NOT
divisible by 9 then X is

23X642 53 dogps 3 B 2TPR0I23E0S) 00 9T eTPR0S2IE ).
0D X Je0J

1
2.
3.
4

4
3
2
1



111.

112.

A shop keeper announced 10% discount on dozen shirts at
marked price ¥16000. If Raju has 9600 with him then the
number of shirts he can buy is

&8 COSPEITPBOE Ky IS0 (P5OIIw 16000
10% Bo052 (HE0wee. Ooew &KE 39600 &0ES 98
§3Ke 357 0 :602135

a.
D.

1
2.
3.
4

6
7
8
9

Diagonals are perpendicular to each other in squares

Diagonals are perpendicular to each other in Rhombuses

Identify the correct statement

1.

2.
3.
4

|

Sh

“

)

Only a is true

Only b is true

Both a, b are true

Both a, b are false

SEHTOS SFeo HBVYTO ©DOM &OLTo.

oroHoS” STe0 DEHYTO ©ODON GO,

BABS A K3803508

— = —0

!—.\

L

a 5?@.“933 ée§§;®o
b ;Sr@tﬁo 269553533
a, b 3o&>r é@g@a

a, b 3oy eab@*ge:o



113.

(30°qr=3pg’r)+ par =

1.

ol A

114. Area of a parallelogram is 48cm’. If one base is 12cm then its
corresponding height is (in cm)

2.8 DIToSS IEBY) T 485.20.. G 2.8 4

12 20.20 9008 T NI I8 (0.0 o)

115.

1
2
3.
4

4
8

12
16

The honorable chairperson of the ‘Mathematics club’ in school

1s
l.
2.
3.
4.

Head Master
Senior Teacher
Maths Teacher

Student leader

IS’ Kdes KoL (Kedes gﬁ) R85 oo

1.

Lol

(B S Iergosnen
DIAE &I ergasre
Ke3es eir"@goﬁnen
waagg JPADEIED



116.

117.

“A lesson plan is actually a plan of action” is stated by

1.
2.
3.
4.

Lester. B. Sands
Long & D. Temple
Clements & Sharma

Blooms & Lib

B DETo THION &8 SPorgSes (HETE” @

s"agaygéi)o{’)é leb)

L 36 8.9

2. eroR o033 &. 80O
3. §odf) 58050 ¥y
4. 2r0) Hdw O
‘Rubric’ is

1. Digital tool

2 Scoring tool

3. Isometric Dot Sheet
4. Digital Graph Sheet
FoSTAISION

1L &R0 erd

2. ) 80K ¢S

3. Soog Hoth JGo

4. &R&S (TP Bigo



118. The students get the happiness of “Finding on my own” in this
method.

1. Heuristic Method

2 Synthetic Method

3. Deductive Method

4. Problem solving Method

B3 300 HEBSE’ arRBHON I A0 SHRT”
9% 85050 EenXIeHod.

1. e DES

DOBAED DS
™ (o]

= WN
&
=
9
[
28
&
@

119. According to Blooms, the behavioural changes are divided
into three parts. They are

a. Thinking
b. Feelings
C. Actions
d. Skills

2TV DIGT SPE)OD 0T BTN IFBOTE. @
a. EHRMIY

b. ERMALIVOY

C. 72565@3
d.  Jdeegen
1. a,c,d
2. b, c,d
3. a,b,c
4. a,b,d



120.

The statement “Social interaction plays an important role in
constructing knowledge by pupils and that every person’s
knowledge is built in his social and cultural surroundings” is
said by

1. Piaget

2. Dewey

3. Vygotsky
4. Froebel

AT TOWE (DBULS 2D K)G"&saoé‘s S0PGFIS STR0E
(58 358 &S0 S5 J0R0E, Jo)BE WO¥TOS’
QBBPE0 8" (FBIHONS °W

1. Slevorrs!
2. CaTg0
3. B,
4. @B



121.

122.

An object takes 2 minutes to cover a distance of 120m. Then
the speed of the object is

1. 1 m/s
2. 60 m/s
3 L

60 7S
4. 0

2.8 3309 120. 8r0eR) (PAEIOTEIS 2 Ji DI
éamgmo)a 90005 T°Q K0

1. 1 /%

2. 60 Do/
1

3. — /D
60

4, 0

The electric component which is indicated by the symbol
—j—

1. Electric cell
2. Double switch
3. Battery

4. Double bulb

—{ |~{ — $0880 1o DebgE eSS
1. 3&355 P60

2. folelrS) ‘9‘355@0
3. aragesé
4. Do AP



123.  When sound wave travels in air, the quantity which is
transferred from place to place is

1. Energy

2. Mass

3. Momentum
4, Force

5 SToKO O (FATBOBOSYL, &8 (PBF0 K00
5085 (3358 288 @535 o°3

L 8

2 @535501%
3. (@Ko
4

200

124. Assertion (A): Carbon dioxide is the best extinguisher
Reason(R) : Carbon dioxide cut off the contact between fuel
and oxygen.
Choose the correct option.

1. Both A & R correct and ‘R’ is the correct explanation
of ‘A’

2. Both A & R correct but ‘R’ is not the correct
explanation of ‘A’

3. ‘A’ correct but ‘R’ incorrect

4. A incorrect but ‘R’ correct

(D5OS (A) : SYIEATFIE &S0 00O eSVYITYNn

58630 (R): SPERESTFYE 30578, es8)m eSS

Slebislethitlelal

1. A 08030 R To&Er 3P0 083w R, AS JDS 5883

2. A S8a5H» RTo&r 5959 520 R, A% ¥BS
DSTed S

3.  AU3IO 5 R0z
4. A8 52 R 93O



125.

126.

In sewage water treatment rags, napkins are removed through
this instrument

1. Bar screen

2. Water clarifier
3. Aerator

4. Scraper

S0E% De3d 68 365 AersoS® Hogeo 850 THISOD
STOR0T DBES0

l. erd @obs

2. e BHlgo T dolgso
3. JPA (PATE A0|B0

4. JpH6

Identify an Amphibian from the following

1. Tortoise

2. Crocodile
3. Salmander
4. Fish

808 8" &ecisy BA KYosod
1. TPZIeD

2. Boo0d

3. Jrosrosd

4. D



127. This vitamin deficiency occurs due to insufficient exposure of
persons to sunlight

1. Calciferol

2. Tocoferol

3. Retinol

4. Thiamine

SASOS JrUBY SHOSFSEO S0 He WS &0
DB B008.

1. SR

2. &Hhod

3. 3B&S

4. BDHLI

128. The valve present between right auricle and ventricle is

1. Tricuspid valve
2. Bicuspid valve
3. pulmonary valve

4. Aortic valve

& 598 30050 2885w gy Ko Sa7¢0
1 (DI S0
EYDE Sareo0

DD EI°e20

Ll

Qs 3080

Qe



129. The hormone controls growth of graafian follicles and milk
production in humans is

1 Gonadotrophin

2 Follicle stimulating hormone

3. Oestrogen

4. Lutenizing hormone

SS90 P00 HBEL ©HID HOH Fo &S
Da500(@03 FEYS

1L AsESHS

2. O3S JungBBofR 38
3. s

4. org33RoR 3EYS

130. The main cause for “Marble cancer” is

1. Greenhouse effect
2. Acid rain
3. Global warming

4. Ozone depletion
“SrEnS 90T BES S0

L 88 Ky (Hariso

2. 85;50%;5%0
3. Fod >0 0k
4. 8% §eoss



131.

132.

To communicate with each other, ants use their

1. Legs and head

2. Legs and stomach
3. Head and stomach
4. Head and eyes

D300 2ETISE HEE 857 eI e ;55_§DZJC57:5CE°§O§ 563D
EDBTAIT 00

1. S"%Q) 08B B
S"%q) 08w &&so
B 0B &E850

L

B HOAW §Q;>i>q>

The correct process of making pots by a potter is
(1) Shape the clay into pot.

(i1))  Soak the clay in water and knead it soft.
(iii)  Bake the dried pots in a kiln.

(iv)  Dry the pot in the shade.

B30 HH0E8 ST T /S IS (E500

() 08 Ho& rnos® SeisEo.

(i) SR ABS° $& 21 DY Iaseo.
(i) d0&S Lok FOWS’ syEo.

(iv) oo &S essBeso.

1 ii, 1, iv, iii
2 i, i, iii, iv
3. v, i, ii, dil
4

1v, i, i, 1



133.

The headquarters of Annamayya district is

1.
2.
3.
4.

Madanapalle
Rayachoti
Puttaparthi
Rajampet

O S0 B (G So|so

1.

Lo

S0EIHB
™

[ORJo S INNON)

D&Y

P00



134. Find out the correct statements regarding the Gana Rajyas
during the Mahajanapadas

Gana had a group of rulers instead of a single ruler.
Each ruler was called himself as a Raja.

C. The rulers met and took decisions on issues of common
interests in assemblies through discussion and debate.

d. Women, Slaves and Wage earners could participate in
these assemblies

DTFRIITO 500 F°E Kea0enjo%d 0000w [HJS
0O K800k,

a. xswwvg@ess 2.5 DO>oHEE 2 HOJoHe
2030 SOad.

b. (DD DO S @GS0 “Trer” @ DOOTHHITD.

C.  DOFoDHen B0SEr DIFITR 20588 902008005
WOTOP TG ITTL, SEYew BOAS SoYS JFASrren
BROHIT.

d. 02, 2NN, DS S mssofsraveg 306;3;063.

1. b, c,d
2. a,b,c
3. a,c,d
4. a,b,c,d



135.

136.

Find out the odd one in association with monuments in the

following

1. Forts

2. Temples

3. Places

4. Ornaments
808 TUS° F YT 2020800 Do &) T
5801306,

1. §Peren

2.  GoroosTen
3. (Fosrew
4. e35TeToe0

According to the National action plan for children 2016, Child
rights were categorized under this number of key priority areas

o0 5700 0% SToRgESEs (PerE 2016 (95750, eroo
T 0 3 d0¥ [PEss somre (ot $858oswEom.

1
2.
3.
4

2

3
4
5



137. Identify the tributary that originates in the peninsular plateau
and joins the Ganga River.

1. Gandak
2. Sarada
3. Chambal

4. Ramganga
EG950) 282 WE° 20 KomrSAS® T GBS K80:506.

1. Ko&§

2. Cidela]

3.  Soad
4.  ocoXore

138. Bheemunipatnam municipality was established in
DO (D50 $62)0) HIFOF Vo0 ITYBS V0SS0

1 1841
2. 1851
3. 1871
4 1861



139. Breeding of fish in specially constructed tanks and ponds is

known as
1. Pisciculture
2. Sericulture

3. Horticulture
4, Viticulture
DLHT ST, SIS (B850 THH oS

JO° DO

1. 33?0§®Q<’S_
2. ?oa§e>38
3. oQseyd
4. Z)é§§e>b)5

140. “One caste, One religion, One god for human kind”
is stated by

1. Ghasidas
2. Haridas Thakur
3. Narayana Guru

4. Jyotirao Phule
“SSTOB 2B 00, wEE 50850, .58 BHE” @l _538’2;@‘5

1L oD

2. 50D ooErS
3. JPOPA0Ed Koo
4. 555@50:@ KD



141. Find out the incorrect statement regarding the Kakatiyas

1. ‘Perini Natyam’ was performed at the time of warfare

2. ‘[llari Sunkam’ was imposed on forest products

3. The land having irrigation facilities was called
‘Velipolam’

4. a group of villages was called ‘Sthala’
SPESA000K V0220800 VBT TR KHYOFOS.

L O00f DR00SrS. D83 S)B50" (HER)oBED
(es] ™
90 &S)HROP YD WO’ POV
Qe 3HA EORS 257 BOF00” 8 DOTI .

W

£ [Sre H305) 1o’ @ DOV

142.  One of the following is not part of ‘Panchavrathas’ of Jainism

1. Satya

2. Ahimsa

3. Parigraha

4. Asteya

BS HB0S Wous|Seren’'S® B
1.

26650

= (6] N
[
L (0]
6—(
2_3(
(0]



143. This Article in the Indian Constitution recognizes the
education as a Fundamental Right

5 TargoKoS"R e (PETEd GG (FEWE K

80008.

1 20 A
2. 21 A
3. 22 A
4 23 A

144. ‘Bhavani Island’ tourist spot is located near this city
1. Vijayawada

2. Visakhapatnam

3. Kakinada

4. Eluru

DO (PRI YTV 890" B SKOeAE 1% &od

1. QWA
2. DFTPIEIEI0
3. SEShy e

4. Do



145.

146.

147.

This is not a “substantive structure” in the structure of science

1.

2.
3.
4.

Concepts

Theories
Laws
Methods

308 S SR, W00 (FTgSYS Aovyes0” 5B

1.
2.
3.
4.

PARNINISY

DO
[on]

Qe (e

DB
[on]

Marks allocated to the tool called “Slip test” in formative
assessment is

Noe eSS ;535°e3150§5oe35, “OR0N0Y" R PSS
B a0528:S SoeEo) e

1.

Ll

20

10
40
30

The percentage of learning that occurs through vision
according to Cobus research is

5208 BTG $Dce0 (S0 SR IO WK
QIFOT® TS0

1.

Ll

3.5%
11%
83%
1.5%



148.

149.

Identify the statement that is not related to simulation

1.
2.

3.

4.

Simulation can be said as a developed play

A simulation is a scenario imagined being in a
particular situation

A teacher or trainee will be there to conduct the
simulation

Partners and participants have complete freedom

50BA” & V02080 B W) KHBOSOE.

1.
2.

3.

4.

DI0TAND DY TS THE o BH)SE)
DI0TAS 28 PBEHT 0PB00S” aPen
EEREVMBSRE

DI0TAS e & ergesnts Bor BEHE
GO,

SEITELE bé{iﬁva% SIere} _‘5003’51,) &0e008.

The 5" step of the Exploration based approach is

1.
2.
3.
4.

Collection of Data
Field Work
Organisation of Data

Forming Groups

@35?&29 e3R8 &DK00S°D 55 FIrS0

1.

~wN

DTS HES
SPOGED o
PNV o ;555%%&

[©)]
FONPOLCLIIING 50503615650



150. The total marks allotted to the Conceptual understanding of
Summative Assessment in Andhra Pradesh are

l. 30M
2. 32M
3. 35M
4. 40 M

SOFPBES” VOTETS ) BrrerjosI0” IRAATSITEE
SETa0DS SrEd) e

1. 30 S
2. 32 Joe
3. 35 3
4. 40 S



